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bll b12

di; 912 di3
| IFA= [ ]andB=[ b,, bzz],
' dy; dop drz

bsz; b3,
then(AXB) =

aybyg+ @b, apby+ axb,, a;bs + axbs,
(i) [ @by + aybi, @by + axb,, appbs; + axbs, ]
aysbyg+ arsbyr, apsbr + axsh,, apsbs; + axsbs,

byi@11+ byyay; bpjag,+ biaz, biia;z+ biass

- dy; @12 d;3
(ii) [ byia11+ byyay; byiai,+ byaz, bya;3+ bya,3 ] (iii) ]

87 @2 Ax3
bz1811+ b3y85; bzja;,+ bsay, bza;sz+ bsass

i) a11b11 + @12b71 + @1303; @p1b15 + 825021 + @z3b3;
iv

ayibio+ apbyy+ agsbsy, axbi,+ axby,+ axzbs;
) [ aypbyg+ @by + @by ap b+ agpby, + agsbs; ]
v

ayibyg + ayby; + @bz @by, + axb,, + aysbs;

2. If a matrix has10elements, what are the possible orders it can have?
(i) {1x10,2x5,10x 1} (ii) {1 x10,5%2,10x 1} (iii) {2 x5,5% 2,10 X 1}
(iv) {1 x10,2%x5,5x%x2,10x 1}
-10-2 323
3, IfA=[ 212 ]andB=[0-1-2 ] ,then AXB =
221 333
-9 -8 -9 -9 -8-11 -7 -8 -9 -9-8-9 -9-8-9
(i) [129 10] (ii) [129 10 ] (iii) [129 10] (iv) [12910] [129 10]
-3-3-7 3-7 -2-3-7 -3-3-8

4. Which of the following is an identity matrix ?
0 Lol o Lo o [55] 0 [oa] @[]

24
. The order of matrix A = [-1 3 ] is
22

w

(i) 4x2 (i) 2x2 (i) 2%x3 (iv) 3%X3 (v) 3x2



6. Which of the following are true for matrices A, Band C ?

a) (AX1)=(IxA)=A

b) (A+B)XC=(AXB)+(AXC)
Q) (AX1)=(IxA)=1

d) (AXB)=(BxA)

e) AX(B+C)=(AxB)+(AXC)

f) AX(BXC)=(AXB)XC

P

(i) {b,a} (ii) {cae} (i) {aef} (iv) {dbf} (v) {ce}

3.1 10 3.1
IfA=[ ],B=[ ]andC [ ,
7 33 2.1

then (A—B)+C =
1-2 . 1-2 1-2 . 1-2 1-2
[-7 9 (i [-7 6 (i [-7 5 (v) [-7 8 W) [-7 7

8. Which of the following are true ?

a) A square matrix whose determinant is zero is called a non-singular matrix
b
C

Rectangular matrices can also have determinants
A square matrix whose determinant is zero is called a singular matrix

)
)
)
d) Only square matrices have determinants

(i) {c,d} (i) {a,b,c} (iii) {a,c} (iv) {b,d} (v) {ad,c}

9. The order of matrix A = [3 -1 ] is

(i) 2x2 (i) 1 x3 (iii)) 1 x2 (iv) 2%X1 (v) 2%X3

10. Which of the following pairs of matrices can be multiplied?

-7-7 -7-7

o] B2 0 [21[00] w0 (32102 w 2] ]
3 77
LI
11. Which of the following is a null matrix ?
[20] @ [oo] @ [60] @ [5o] @ [o0]
) R e
) [333(; (i) _'330_01 (i) _;30_(; (iv) _'330_(; (v 330;

13 If A .and B are given as below, neither(AXB) nor(BXA)
" is possible for which of the following pairs?

(i) 1x2,2%x3 (i) 3x1,1x3 (jii)2%Xx3,3%x1 (iv)1x%x3,2%Xx3 (v)1x2,2x1

1-8-5
00 2



14. Which of the following is a column matrix

928

(i) [762] (i) [81] (i) [1149] (iv) [2] (v) [;;3]

15. Which of the following pairs of matrices are comparable?

T8 o 0 I e S T i 0 Y i R s
0t 58
(V)[—65 ]’[4 3]
9 -7
1a|fB=[2i]an [4644 and(AXB) = C, find A

o[l o Lo Bl e [] e [5]

17. Which of the following is a rectangular matrix?

8783
124
0 881 i 1257 oo [s5171 o [267
| || || \Y Vv
[¢] [ ] [ia] o [ss1] o [5se,
1299
13-3
18, MmﬂxA==[23-3]isﬂmaddeeHwemeof
4-3-1
1-33 1-33 1-33 1-32 1-33

[2-33] (ii) [0-33] (iii) [4-30] (iv) [2-33] (v) [2-34]
431 431 431 431 431
w =[oo ] e=[oalemac=[50]

then A+7B+10C =

[103 31 [103 33 [103 33 [103 33 [103 33
-7 -5

20 If the order of matrix(AXB)is4 X 4and the orderof B=3 X 4,
" then the order of A is ?

(i) 4 x4 (i) 4x2 (i) 5%x3 (iv) 5x4 (v) 4%x3



Express the following equation in the matrix form

21.
a;x+ b;y+ c;=0and ax+ b,y+ ¢c,=0

SLUTR 2L L D PR R
L O | O RN IS 1 Y 0 B

22. Which of the following are true?

a) An identity matrix is a square matrix
b

)

) A null matrix is a square matrix
c) A row matrix is a square matrix

)

d) A column matrix is a square matrix

(i) {c.a} (ii) {a} (i) {b,a} (iv) {d,b,a}

2

1-4 a =3
GivenA=[ ]andB=[ ]
23. -3-6 b 1
6
if BA=1findaandb
-2 1 -1 -2 1 -1

i)a=1,b=( i)a=-,b= i) a= , b= a=1,b=(
(i) (5) (i) (2) (iii) (=) (iv) (2)
a b c p q r
IfA=[def]andB=[s t u],
24.
g h i v w X
then(AXB) =
pa+qd+rg pb+qge+rh pc+ gf+ri ap+dg+ gr as+ dt+ gu av+ dw+ gx
(i) [ sa+td+ug sb+te+ uh sc+ tf+ ui ] (ii) [ bp+eq+ hr bs+ et+ hu bv+ ew+ hx ]
va+ wd+ xg vb+ we+ xh vc+ wf+ xi cp+fqg+ir cs+ft+iu cv+ fw+ ix
ap+ bg+ cr as+ bt+ cu av+ bw+ cx ap+ bs+cv ag+ bt+ cw ar+ bu+ cx
(iii) [ dp+eq+fr ds+et+ fu dv+ew+ fx ] (iv) [ dp+ es+ fv dg+ et+ fw dr+ eu+ fx ]
gp+ hg+ir gs+ ht+iu gv+ hw+ ix gp+ hs+iv gqg+ ht+ iw gr+ hu+ ix

ap+ bs+cv dp+es+fv gp+ hs+ iv
(v) [ ag+ bt+ cw dg+ et+ fw gg+ ht+iw]
ar+ bu+cx dr+eu+ fx gr+ hu+ ix

25. If(A+B) =0, then

a) A is the additive inverse of B
b) B is the additive identity of A
) Ais the additive identity of B
) B is the additive inverse of A

o
d

(i) {b,a} (i) {b,d,a} (i) {b,c,a} (iv) {a,d} (v) {c,d}



Assignment Key

1) (v) 2) (iv) 3) (i) 4) (v) 5) (v) 6) (iii)
7) (v) 8) (i) 9) (iii) 10) (iv) 11) (v) 12) (iii)
13) (iv) 14) (iv) 15) (i) 16) (i) 17) (ii) 18) (i)
19) (iii) 20) (v) 21) (ii) 22) (ii) 23) (iv) 24) (iv)
25) (iv)
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